EARAZROREIERT — 2 N—XBISY —F 20185E7H29H (H) 5MEIERS5H

m C2+—# 5% —# (w8 | mEmml - |5 %) w8
[A&4£] 1 7% :200,000" ~ 23%&:46,000”  33%&:26,000H”  43%&:18,000 M .~ 57 :10,000
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
A 15, - . — FES= (B
=yl ] o7 2530 1(1_5)4 - 8.7 2 ?f; &) F—24rT
LY IS5TLIFo b BiTrp—LhlLyY N E454%
= o BERRE :16. = . - ERF (B
FoTOvs — 4 5&4.0 1(156)2 2-2 39.2 1 (4551) it
L:¥r/07a4 B:Fo7axra R b FEFFHS
s i o4 | BAXE 1:16.2 4-3 38.8| — 4 445 | BEILET] (B%F)
vix—=J 54.0 (7€) 1) E(Jfék) RERIALN T
L ZRZXAR R BiLECN-b KP4
o6 | WUABER 1:16.6 6-5 8.7 — 5 497 | BEILES] (BERE)
hF R 56.0 (2 1/2) -11) Eﬁﬂlﬁi
v TRy b B:Z5T74I2R% =Y Tr—L
. i 5 | EHERE 1:16.8 2-3 39.6| — 8 450 | MRS (ERR)
5177 ALy F 56.0 (3/4) (+14) HHARZ
R:xA1=ZG7— B:F7RII4YTIL—t ke
o TRREIfE— 7. — . — NBEEAE (BXfE
618l8 f—=23—UN=-X B 56.0 1(127)1 o .2 ! (4_4‘3 :’r'iﬂiﬁﬁ‘}é‘
LN-—ErVrv— B:vAM54714—X J—HrTr—LA
7o S s 7 | wOB— 1:17.5 8-7 39.2| — 3 463 | EHIZ (KR)
7111 |7ITRE Y > 56.0 @ 1/2) (+10) |WTER
LN=VFINZyoa BHLT—REY 21— L 1T
s . iRE :18. = . — BAAER (KR
855|777 HoA~T LI A 1(168)5 7-8 40.2 6 (5_043; Baae o
77—k B:ibhoF¥o¥— N T -5
® I —F—@EBIERL
13—7—
23— —
G§a=7r= 2,(4,7),3,8,6,5,1
43—F— 2,4,(3,7),(6,8),1,5
[ RN
B OB 2 320H 714K 2-4 180H B E 2-4 390M &R 2-3-4 1,250H
8 B 2 1309 2-3 520M B H 2-4 1,010/ JEH 2-4-3 5,460/
4 1204 3-4 500
8 240M

ABICOVWTRDTEEERROODE. TR LIV,



